[image: image1.png]ﬂ [a] In the opposite figure :
ABC is a triangle in which AB = 6 cm,
s BC=9cm.and AC=7.5 cm.
» D is a point outside the triangle ABC
s where DB =4 cm. and DA =5 cm.
Prove that :
(1) A ABC ~ A DBA (2) BA bisects 2 DBC

[b] In the opposite figure : ADisa tangent to the circle M at D
where AD =15 cm. »if AB =9 cm.

Calculate the radius length of the circle.

€ 9em, B

B [a] In the opposite figure :
(1) Prove that : A DBF ~ A ABC
( 2) Find the length of DF

i 4} € F B
[b] ABC is a right-angled triangle at B. Draw AD bisects Z A and intersects

BC atD ,if BD =24 cm. and BA : AC =3 : 5 Find the perimeter of A ABC

Acciut Education Adminictration
Badr Language School

n Complete :
(1) Two polygons are similar if «............ 9 e
(2) In the opposite figure :

Circle M with radius length is 5 cm. » AD is tangent
to the circle at D » AD = 12 cm.

> then the length of AC = .voocecoi.

(3) Two similar polygons the ratio between their two perimeters is 2 : 3 and the arca of the
smaller polygon equals 40 cm? , then the area of the larger polygon equals -+

(4) In the opposite figure : A g
- 50 .
AB /

3 Choose the correct answer :

(1) In the opposite figure :
If DE // BC »then X = -eevevrveee- cil
(a) 4 ®)5
(©) 6 (d) 8
hi;: Ssem. B
—_——— . ——
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Answer the following questions:
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(2)IfAABC ~ AXYZ and AB =3 XY »then

area of A XYZ _

area of AABC
4y ok 9 L ok
OF () 3 © 1 (@3
( 3) In the opposite figure :
Bl nilaia
BC
1 i
@ 5 (b) 5
(©)2 (d)3
(4) The bisectors of angles of a triangle are -
(a) perpendicular. (b) concurrent. (c) equal.

ED In the opposite figure : ABC is triangle in which X EAB
where AX =4 cm. s XB=6cm. »
Y EAC where AY =5 cm. » YC =3 cm.
(1) Prove that : the figure XBCY is a cyclic quadrilateral.
(2)If area of A AXY = 8 cm? » find the surface area of the polygon XBCY

3 In the opposite figure :
ADBA ~ A ABC ym (£ BAC) =90°
Prove that : AD | BC ,
if AB =8 cm. » AC = 6 cm. » find the length of BD

: ﬂ [a] In the opposite figure :

| I ABC is a triangle s D EAC
»DE// AB ,if DF // AE

| 1 Prove that : (CF)? = CF x CB

[b] In the opposite figure : AB N\ DE = {C} s CA =CB
+CD =2 ¢em. s CE=§ecm.

sMDis a tangent segment to the circle and MB =
Find the length of : MD ;

1
> AB

Answer the following questions : (Calculators are permitted)
€D Complete :

(1) Any two regular polygons having the same number of sides are -




  (1)  Complete:

1. The solution set the equation 5 X + 25 = 0 in the set of complex number is ………………

2. [image: image3.jpg]— 8.

GeOmeT e,

(2) The interior and the exterior bisectors of angle of triangle are ...

(3) In any right-angled triangle the altitude to the hypotenuse separates the triangle into
two triang]es ............... and csee i

(4) 1Py, (A)=0 s then A lieg «oveeeees

3 Choose the correct answer :

(1) If the ratio between the perimeters of two similar polygons is 2 : 3 5 then the ratio
between their areas = ...

(a)2:9 )23 (c)4:9 (d9:4
(2) In the opposite figure :

ADisa tangent » AC = 8 cm. and AB =2 cm.
9 then AD =Sl iani it cm.
(B (b) 16

©
D A
( 3) In the opposite figure :
XY //BCand XY : BC=3:8

B
A

sthen AX : XB = oo
(@)3:8 ®)3:5
(e)e3is 11l d5:8

(4) In the opposite figure :

AC=3cm.and BC=7.5 cm. 5 D
sthen AD : BD = -oooovivienne . nﬁ\
@3:5 ©)2:5 & i g
@275 (@2:3

€D [a] In the opposite figure :

d ,
ABC is a triangle s D EAB ,ECAC w |
(1) Prove that : A ADE ~ A ACB = :
| e 0 A 6cm. D 18cm. B
(2) Find the length of ED
[b] In the opposite figure : 2

A

ABCD is a quadrilateral in which
AB=8cm.»AD=12cm. sDF=6cm.and FC =4 cm. »
AE bisects Z A and inersects BD at E

Prove that : EF / BC

oy T w9 T
O@
o] wo




The angle of measure (-610°) lies in the …….. quadrant.

3. [image: image4.jpg]B =
(2) In the opposite figure :
m (£ BAC) = m (£ ADC) = 90° 5 k
sAD =3 cm. » AC =5 cm. ]
s then area of A BAD : area of ABCA=.............. ¢ D B
(@)3:4 (b)4:5 (@3 :5 (d)9:25

(3) In a triangle the measure of the angle between the interior bisector and the exterior
bisector of one of its interior angles is ...
(a) 135° (b) 90° (c) 180° (d) 45°

(4) Let k be the similarity factor of polygon M; to polygon M, » then M, is shrinking to
polygon M, where «.-..c.....
(@ k>1 b)) 1>k>0 ©k=1 k=0

B [a] If the areas of two similar polygons are 100 cm?and 64 cm? and the perimeter of the
first is 20 cm. find the perimeter of the second.

[b] ABCD is a trapezium in which AD // BC and X € AB » Y EDC if XY // BC
and BX =DY » CY =4 cm. » AX = 9 cm. Find length of DY

ﬂ [a] In the opposite figure : & Jom, & = .
C_B, ﬂ ﬁj: {A} & Lo
sAD =5 cm. E
sAB=6cm. » BC=4cm.
Find the length of DE

[b] In the opposite figure :
If AD bisects £ BAC » AB =6 cm.
sBC=7cm. yAC=8§
Find the length of DB C B a

B [a] If the distant of point A from a circle centre M cquals 10 cm. and Py, (A) = 64

Find the radius length of the circle.
[b] In the opposite figure :

A ABC in which
X € AB such that AX = 4 cm.
»Y €EAC such that AY = 5 cm.
sYC=3cm. sBX =6cm.
Prove that :
(1)AAXY~AACB (2) XBCY is a cyclic quadrilateral.

5B i i — ——
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ﬂ [a] If the lengths of two corresponding sides i m two similar polygons are 12 cm. 5 16 cm. and
the area of the smaller polygon = 135 cm? » then find the area of the greater polygon.

[b] In the opposite figure : /\
CBNFE={A} AB=3cm. F L A
»BC=2cm. s AF=7.5 cm. \/
=T B
Find the length of EF

C
B [a] In the opposite figure : g@ 'AE_
XY // BC » XZ // BY é "
X
sy AX =6 cm. _
,XB =9cm. s AZ=3cm. g
Find the length of ZY and YC % k. -

[b] In the opposite figure :
BDisa tangent segment to the circle at B

Prove that : A ABD ~ ABCD

kX Aswan Governorate

nswer the following questions :
€B Complete :

(1) The exterior bisector of the vertex angle of an isosceles triangle IS coreeeivinns the base
of the triangle.

(2) If the power of a point A with respect to the circle M is a negative quantity s then A

(3) In the right-angled triangle the perpendicular drawn from the vertex of right angle to
the hypotenuse separates the triangle into two triangles are - and each of them
--------------- to the original triangle.

(4 ) If the ratio between the areas of two similar polygons equals 1 : 4 s then the ratio
between the lengths of their two corresponding sides is oo D

B Choose the correct answer :
(1) If each one of two polygons is similar to a third polygon » then the two polygons

T
(a) similar. (b) congruent.
(c) regular. (d) equivalent.

@
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If X = 3 is one of the roots of the equation X – a +7 = 0, then a = …………….
4. If cos θ = ـــــ , sin θ= -   ـــــــــ , then θ = ……….
5. If X = 5 + i , y = 5 – i , then X y = ………….. 
6. If the two roots of the equation X – 6 X + L = 0 are real and equal, then L = …………
7. The range of the function f where f (θ) = ــــ sin θ is …….
8. The angle whose measure is (-275°) is located at the ……. quadrant.

9.  The quadratic equation whose roots are (1 + i) , (1-i) is…...
10. If tan θ = cot 2θ when θ is positive acute angle , then sin θ    

       = ……………

11. The range of the function f : f (θ) = 3 sin θ is ………
12. If one of two roots of the equation X – (m+2) X+3 = 0 is additive inverse of the other then m = ………..

(2) Choose the correct answer:
1- if one of two roots of the equation a X + 2 X +5 = 0 is multiplicative inverse of the other root , then a = ……….
(a) -5

(b) -2 

(c) 2

(d) 5

2- if cos 2 θ = ـــــــ where 0° > θ>  90°, then tan 2 θ = ………
(a) ـــــــ

(b) ــــ 

(c)  3

(d) ـــــ
3- The quadratic equation whose two roots are 1 +i and 1-i is…...
(a) X + 2 X + 2 = 0

(b) X – 2 X + 2 = 0

(c) X + 2 X – 2 = 0

(d) X – 2 X - 2 = 0

4- The degree measure of the central angle in the circle of radius length 4cm. and subtends an arc length 3л cm = ………
(a) 30°

(b) 30° 

(c) 135°

(d) 315°

5- The product of two roots of the equation X (2X -3) = 7 is ……
(a) ــــــ

(b) ـــــ

(c) ــــ


(d) ـــــ 
6- The radian measure of the central angle which subtends an arc of the length 3cm. in a circle of diameter length 4cm. is …..
(a) ــــــ

(b) ـــــ

(c) ــــ


(d) 2 

7- The sign of the function f where f (X) = 6 -2 X is positive if …..
(a) X< 3

(b) X ≥ 3

(c) X > 3

(d) X = 3

8- The simplest form of the expression cos (180+θ) + sin (90+θ)= ….
(a) 0


(b) 3

 (c) 2 cos θ

(d) 2 sin θ

9-  if the sum of the two roots of the equation X –a+6=0 equals 5, then a = ………………
(a) -6


(b) -5

 (c) 5


(d) 6
10- The solution set of the inequality: X + 3 X+9> 0 in R is ……
(a) [3 , 9 ]

(b) ] 3 , 9[
   (c) R

(d) Ø
11- The arc of length 15лcm. in a  circle of a radius length 10cm. is opposite to a central angle of measure ………..

(a) ــــــــ

(b) ــــــــ

(c) ـــــــــ
  (d) ـــــــ
12- If θ is a positive acute angle where 2 cos θ =   3, then sin 3 θ = …..….
(a) zero
(b) ــــــ


(c) 1

(d) ــــــ
Qus: (3) 
(a) in the opposite figure :

AB is an arc of a circle of centre M
and the length of its radius is 10 cm., AB = 16cm.
Find θ in radian, then find the length of the arc AB
(b) If f : R        R where f ( X) = - X + 8 X -15
    (1) Graph the function in the interval [1 , 7]
    (2) Determine the sign of the function.

Qus: (4) 

(a) Form the quadratic equation whose two roots are 3-2  2 i and  
       3 + 2  2 i
(b) if ـــــــــــ = 1 where 0° > θ > 90°, Find the value of:
     sin (180° -3θ) cos (360° - 2 θ) + tan 2 θ cot (θ – 150°)

Qus: (5) 

(a) if L and M are the two roots of the equation X + 3 X – 5 = 0, then from the quadratic equation whose roots ate L and M
(b) If tan B = ــــــ ,where 180° > B> 270°, then find the value of:
      cos (360° - B) – cos (90° - B) 
Qus: (3) 

(a) Investigate the sign of the function f where f (X) = X + 2X -15 and represent it on the number line. 

(b) if θ is drawn in the standard position and its terminal side intersects the unit circle at the point ( ــــ , ـــــ ), then find: sin θ , and cot θ.
Qus: (4) 

(a) Find the value of k which makes one root of the two roots of the equation: 4k X + 7 X + k + 4 = 0 the multiplicative inverse of the other root.

(b) Find the general solution of the equation: cos 2 θ = sin 4 θ, then find the values of θ where θ  €] 0, ـــــ [
Qus: (5) 

(a) Find in the simplest form (1 – i) 

(b) without using the calculator find the value of: 2 sin 600° x cos (-30°) + sin 210° x tan 315° 

Qus: (3) 

(a) If a + bi = ـــــــــــ , find the value of each a and b
(b) Find in the simplest form: sin (-30°) cos (-60°) + ـــــــــ
Qus: (4) 

(a) If the terminal side of angle θ drawn in the standard position intersects the unit circle at the point (ـــــ , ـــــ), find the value of:
  tan θ + sin (90° - θ)

(b) Investigate the sign of the function f where f (X) = X + X – 2 illustrating the sign on the number line then solve the inequality X + X ≤ 2
Qus: (5) 

(a) If L and M are the roots of the equation X +5 X +6=0, form the equation whose roots are L and M
(b) Find the general solution of the equation: sin 4 θ = cos 2 θ, then find the value of θ where θ€ ]0 , ـــــ [
Geometry 2017
Answer the following questions:

  (1)  Complete:

 1) Two polygons are similar if ………….. , ……….……
2) In opposite figure:
    Circle M with radius length is 5cm. , AD is tangent
    to the circle at D, AD = 12cm.

     , then the length of AC

3) Two similar polygons the ratio between their two perimeters  is 2 : 3 and the area of the smaller polygons equals 40cm. , then area o the larger polygon equals ……………..
4) In the opposite figure:
    ــــــــ = ــــــــــ 

5) Any two regular polygons having the same number of side are …………….
6) The interior and the exterior bisector of angle of triangle are …………….

7) In any right-angled triangle the altitude to the hypotenuse separates the triangle into two triangle ………… and ………..

8) If  P  (A) = 0 , then A lies ……………………..
9) The exterior bisector of the vertex angle of an isosceles triangle is ………….. the bas of the triangle.

10) If the power of a point A with respect to the circle M is a negative quantity, then A lies ……………..

11) In the right-angled triangle the perpendicular drawn from the vertex of right angle to the hypotenuse separate the triangle into two triangle are …………. and each of them ……… to the original triangle.
12) If the ratio between the areas of two similar polygons equals 1:4 , then the ratio between the length of their two corresponding sides is ……….. : ……………


(2) Choose the correct answer:
1- in the opposite figure:
If  DE // BC , then X = ………. cm.

(a) 4 

(b) 5

(c) 6


(d) 8

2- If ∆ ABC ~ ∆ XYZ and AB = 3 XY, then ـــــــــــــــــــــــــــــــــــ
(a) ــــــ

(b) ــــــ

(c) ــــــ

(d) ــــــ
3-  in the opposite figure:

      ــــــــ = ……….
(a) ــــــ
(b) ــــــ
(c) 2
(d) 3

4- The bisector of angles of a triangle are ………
(a) perpendicular
(b)concurrent 
(c) equal 
(d) parallel 

5- If the ratio between  the perimeter of two  similar polygons is 2 : 3, then the ratio between their areas = ………….

(a) 2 : 9

(b) 2 : 3 

(c) 4 : 9 

(d) 9 : 4

6) In the opposite figure:

    AD is a tangent , AC = 8cm. and AB = 2cm.

    , then AD = ………… cm.

(a) 6
           (b)    16    (c) 10    (d) 4
7) In the opposite figure:

    XY // BC and XY : BC =3 : 8

   , then AX = XB ………… 

(a) 3 : 8                   (b) 3 : 5 



(c) 3 : 11 

   (d) 5 : 8

8) In the opposite figure:

AC = 3 cm. and BC = 7.5cm.
   , then AD : BD ………… 

(a) 3 : 5                   (b) 2 : 5 



(c) 2 : 7.5 

   (d) 2 : 3

9) In the each of two polygon is similar to a third polygon, then the two polygon are …………..
(a) similar

(b) congruent 
(c) regular 

(d) equivalent

10) In the opposite figure:

    m (< BAC) = m (< ADC) = 90°

    , AD = 3cm. , AC = 5cm.

    , then area of ∆ BAD : area of ∆ BCA  = ……..

(a) 3 : 4                   (b) 4 : 5 



(c) 3 : 5

   (d) 9 : 25
11) In a triangle the measure of the angle between the interior bisector and the exterior bisector of one of its interior angles is .......
(a) 135°

(b) 90°

(c) 180°
  (d) 45°

12) Let k be the similarity factory of polygon M to polygon M , then M is shrinking to polygon M where ……….

(a) k < 1

(b) 1 < k < 0
(c) k = 1
(d) k = 0
Que (3):
In the opposite figure: ABC is triangle in which X € AB
 where AX = 4cm., XB = 6 cm.,

 Y € AC where AY = 5cm.,  YC = 3 cm.
(1) Prove that: the figure XBCY is a cyclic quadrilateral.

(2) If area of ∆ AXY = 8cm, find the surface area of the polygon XBCY

Que (4):

In the opposite figure: 

∆ DBA ~ ∆ ABC , m (> BAC) = 90°

  Prove that: AD ┴ BC , 
 If AB = 8cm., AC = 6cm., find the length of BD

Que (5):

(a) In the opposite figure: 

ABC is a triangle , D € AC
, DE // AB , if  DF // AE 
Prove that: (CE) = CF x CB


(b) In the opposite figure: 

AB ∩ DE = {C} , CA = CB

, CD = 2cm., CE = 8cm.

, MD is tangent segment to the circle and MB = ــــ AB

   Find the length of : MD

Que (3):

(a) In the opposite figure: 

ABC is triangle , D € AB , E € AC

(1) Prove that: ∆ ADE ~ ∆ ACB

(2) Find the length of ED

(b)  In the opposite figure:
ABCD is a quadrilateral in which
 AB = 8cm., AD = 12cm., DF = 6cm. and FC= 4cm.,

AE bisects > A and intersects BD at E

Prove that: EF// BC

Que (4):

(a) If the length of two corresponding sides in two similar polygons are 12cm, 16cm and the area the smaller polygon
 =135 cm, then find the area of the greater polygon .
(b)  In the opposite figure:

    CB ∩ FE = { A} , AB = 3cm

    , BC = 2cm, AF = 7.5cm.

Find the length of EF

Que (5):

(a) In the opposite figure: 

XY // BC , XZ // BY

, AX = 6 cm , XB = 9cm , AZ = 3cm

Find the length of  ZY and YC

(b) In the opposite figure: 

 BD is a tangent segment to the circle at B

 Prove that : ∆ ABD ~ ∆ BCD

Que (3):

(a) If the area of two similar polygons are 100cm. and 64cm. and the perimeter of the first is 20cm. find the perimeter of the second.
(b) ABCD is a trapezium in which AD // BC and X € AB , Y € DC if XY // BC and BX = DY , CY = 4cm., AX = 89cm find length of DY

Que (4):

(a) In the opposite figure: 

CB ∩ ED = { A}
, AD = 5cm , AB = 6cm , BC = 4cm.

Find the length of DE

(b) In the opposite figure: 

If AD bisects > BAC , AB = 6cm

, BC = 7cm , AC = 8cm 

Find the length of DB

Que (5):

(a) If the distant of point A from a circle centre M equals 10cm and P (A) = 64, find the radius length of the circle.
(b) In the opposite figure: 

∆ ABC in which X € AB such that AX = 4cm

, Y € AC such that AY = 5cm.

, YC =3 cm, BX = 6cm

Prove that:

1) ∆ AXY ~∆ ACB       2) XBCY is a cyclic quadrilateral
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